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Paper : 5.5

FUII Marks : 6O

Time : 3 hours

The fi"gures in the margin indicate full marks
for the questions

> I U€TftTt: >xq=q

(o) tryrRq k"ft' aqxf"{ stcqq csn ?

(q) 'ktq( <{rq'.s( E1sq"-pqffi conq mq t
(q) iqreTsntcr crfl?lftir <D-{I s-{r qTRsrsq-

q-fl-fi{ gR?l{{;il{ ft r
(s) 'D-.$'{ aqn kfiBrfi ft r
(s) qb+ qr+ \l.arw ntRsr{ qfqs {E aqmr ft r

(u) Rrsffi 'classicism' xfqch cfl-{zbt cqtrq -m{

"KISTRCqT

(q) 'srfF ftG' c$FetT qTRfuf,<Tq< q.ils{
c<I'lE ?
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\ | qB-c< fi$ : \x8=t'
(e) s<?Trq-{ Fr svr{ bsftEr E-.s'{ F-<t r

("r) {q m?Rq q-E ft ft r
(q) TR.sK srq Fr ft ft r
(s) ffi qe pfrem< fb "n"f+r Bze< tr-{t r

e r (n) T{-{ trws csf{R{ qrs ctt 1fr c+rat <t t
1p R.'fRqrrEID-{t srt r )o

4Rr/

(q) <laipnm{ T{ qT{R-{-,r-Kk fuz< vtqR etfr
qtRqt aqqRqrffD-{t T-{t 1

8 r (o) +R-q rr{s qrcqIFFq?FFt qrrrcqFil x€rc{3
ftum o-{t r )o

n?"r
({) alF+-{ frfr A-si 1fo-q ft 1el2 aFq-q eE ffi

A-$iE eTcft-+-sT q-fl-c$ qrcffD;il nfB w r

c r (v) 'tenrplg Sfts Eq cerefitcbt fr+q qr pFarx"-

sF{FBs q{ 'q6q ftqq' 1" Te[$R frurs rEI r )o

ryl?vl

(q) pftmo flEFFFFt TE-',rift q-"rc6 qfr erffi les
FqI I

v I DT 6I-sT fr".tT (fi conqr ftfiBr) : cxe=)c
\nEI($.K-l1-q ; v{Err {bnE ; Fqqg; *fto<k ;

Q,FltF-s< fr-<nq."h ; qfrftE DR-s I
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